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Q SEHPH

When you drive near a public bus that signals that it is about

to exit its stop, what should you do?

> D)

1.) Flash the lights as approaching

2.) Overtake before the public bus
exits its stop

L D

3.) Give way to the public bus to exit

its stop

v

> D)

4.) Turn on the left turn indicator
signal and wave to let the public bus
exit first




Q SEHPH

%_
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What should you do if the accelerator is stuck?

> D

1.) Stay alert and focus and use foot 2.) Turn on hazard light

‘)) tip to remove the accelerator V ‘))

3.) Repeat the accelerator several 4.) Pull hand brake

) e o
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3 Q SEHPH

Which of the following should a driver NOT do when driving
through the rain?

> D)

1.) Turn on the wipers 2.) Use more caution.

3.) Turn on the emergency lights 4.) Slow down more than usual.
)) throughout the route. ‘))
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From what distance is overtaking forbidden when there is

fog, dust, rain or smoke affecting visibility?

©

Q SEHPH

1.) 70 metres

2.) 80 metres

)

3.) 60 metres

4.) 90 metres
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Q SEHPH

Drivers should NOT take antihistamines before driving, yes

or no?

> D

1.) Depending on food taken

L D)

2.) Depending on the type of vehicle
driven

3.) No

4.) Yes
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There is noise when pressing the brake pedal, why?

> D

Q SEHPH

1.) Tyres expired

2.) Too low pressure in tyres.

)

3.) Hard tyres

> D,

4.) The brake pads are dirty or the
brake pads are depleted.
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What is the penalty for driving under the influence of
alcohol beyond the legal limit?

> D

1.) Imprisonment of up to 3 months 2.) Imprisonment of up to 1 year or a

Bg)  orafine of between 1,000 and 50,000 i) fincof between 5,000 to 20,000 Baht,
Baht or both. J\
3.) Fine up to 5,000 Baht 4.,) A fine not exceeding 10,000 baht

) > D,
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Q FEHDR

When the driver sees this sign, what should the driver do?

Q

> D,

13

1.) Do not park but picking up is
allowed in the area where the sign is
installed.

2.) No motorcycles and cars are J
allowed. \

)

3.) Motorcycles are allowed to enter
the signage area.

> D

4.) All vehicles are allowed to enter
the signage area.
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Which of the following shows good parking ettiquette?

5
©

> D)

Q SEHPH

o D)

1.) Do not obstruct others and do not

violate traffic rules. V

2.) Double park the car

3.) Park over the No Parking area.

)

> D)

4.) Park the car obstructing the
entrance - exit




What does this road marking (White Line) mean?

> D)

Q =EHDR

>

1.) Can turn

2.) Park is allowed.

o

3.) Don't turn

4.) Slow down lines
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How do you check if your car seat belt is working properly?

o

1.) Pull the belt quickly, seat belt will 2.) Inspect the belt to see if it is new

) o - ) oo
) ﬁ )

3.) See if the belt has been made by a 4.) Check to see if the belt is of a dark

‘)) reputable brand. ‘)) colour.




When the driver sees this sign, what should the driver do?

Q

> D,

Q FEHDF

>

‘ ) 1.) No parking for all vehicles V
) b4

2.) All cars cannot stop.

3.) Park all vehicles

)

4.) Stop for all kinds of vehicle.




When driving long distances and you feel sleepy, what

should you do?

Q SEHPH

> D)

1.) Take a rest, sleep or exercise at the

et z

2.) Drive with music to keep the
nervous system awaken.

)

3.) Speed up to reach the destination
quickly.

L D

4.) Move and brake often to get rid
sleepiness




Which one is correct for driving?

Q SEHPH

> D

1.) Overtaking in the tunnel

L D

2.) Driving at a speed not exceeding

the limit by law. «

L D

3.) Drive in a way that obstructs the
traffic.

4.) Drive over the lane diving lines.




When the driver sees this sign, what should the driver do?

Q

Q SEHEH

> D)

13

1.) Slow down and be cautious. The
road ahead is narrow.

2.) Slow down and be cautious as the
road ahead has fewer traffic lanes.

L D

3.) Slow down and be cautious. Left
narrow lane ahead.

L D,

4.) Slow down and be careful of the
oncoming traffic from the other side
of the bridge.




Q SEHPH

What is the result of changing to the reverse gear while the
car is not completely stopped?

> D,

1.) No effect on any part of the car.

L D)

2.) This will cause the gears to wear
faster than usual

)

3.) The gear oil will run out.

4.) More oil will be consumed
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Which of the following is the correct procedure to check
your tyre pressure?

> D

1.) Use your hand 2.) Hit the tyres with iron bar.

3.) Use a tyre gauge. 4.) With the naked eye

) > D)
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Which of the following is correct for driving at night?

> D,

1.) Turn on the high beams at all 2.) Drive slowly and be more careful.

‘)) times while driving. ‘)) J

3.) Drive as fast as usual. 4.) Turn on emergency lights while

") ‘)) driving.




Which picture is the correct way of turning?




Which is NOT the cause of the overheated engine?

> D)

Q SEHPH

1.) Broken fan belt

2.) Distilled water, dry battery

)

3.) Water in radiator dried up

4.) Oil empty
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When losing control on a wet road, what should you do?

Q SEHPH

> D)

1.) Press the brake pedal then slowly
press the accelerator.

2.) Be conscious. Hold steering wheel
firmly. Speed up

)

3.) Release the accelerator pedal to
use low gear.

> D)

4.) Lift the foot from the accelerator
pedal, hold the steering wheel firmly
to control the car.




Which one is correct?

Q SEHPH

> D)

1.) Truck must be driven in the right-
hand lane.

2.) Changing the lanes to the right or
left does not require looking at the
left or right mirrors.

)

3.) Passenger truck must drive in the
right-hand lane.

> D)

4.) Motorcycle must be in the left
lane.

v




Q SEHPH

If you experience a flat or exploded tyre whilst driving, what
should the driver do?

> D)

1.) Keep calm, control steerling wheel,

slow down,and do not press the
brakes suddenly.

v

)

2.) Release the gear and then press
the brake pedal.

)

3.) Move the steering wheel quickly to

the side.

4.) Hurry to brake as fast as possible.
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Q SEHPH

When you are driving in the main road and want to turn right
onto the secondary road, why should you check for
motorcycles before making the turn?

> D)

1.) Motorcycles may be following at a

very close range

2.) Motorcycles may exit from the
secondary road

L D

3.) Motorcycles may overtake from
the right hand side

v

> D)

4.) Motorcycles may overtake from
the left hand side




What should you do when driving a car through the water?

> D

Q SEHPH

1.) Accelerate the engine slightly «
‘)) higher than normal. l

2.) Turn on emergency lights

3.) Put on your high beam lights

)

4.) Accelerate with speed.
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When should the tyres be checked?

> D

1.) When the tyres are still cool. « 2.) While running for about 2 hours.
b | | €

3.) Check it whenever they need it 4.) While carrying heavy loads

) > D)
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Q SHSH

When the driver sees this sign, what should the driver do?

Q

> D)

>

1.) Crossing zone.

2.) Crossing

3.) No pedestrains allowed

)

4.) Pedestrians only




Q SEHPH

When a driver flees the scene of an accident, what will be the

result?

> D,

o D)

1.) It is assumed that the person is
the culprit.

D

2.) No results because he is not at
fault

)

3.) You will be the right party

4.) They will be asked to be a witness
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What condition does a vehicle need to be in before
registration?

> D

Q SEHPH

1.) The car that inspected by a private
car inspector.

2.) The car must have complete
fittings and have passed the car
inspection.

)

3.) The car must have the correct
fittings.

L D)

4.) Vehicles purchased from the
general car dealer.
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How would the front wheel tyres with low pressure impact

on driving?

=D

1.) It will save wear on the tyres but 2.) The car always seemed jerky.

‘)) more fuel will be consumed V ‘))

3.) Fuel will be saved, but tyres will 4.) Wear at front tyre wheels and the
‘)) wear. ‘)) car consumes more fuel




From the picture, what must the car A do?

> D)

Q FEHDR

>

1.) Stop the car so that the car from

the left passes first.

v

2.) Drive through the intersection
right away.

o

3.) Stop the car to let the car on the

right go first.

L D

4.) Slow down so that the cars left
and right go first.




Q SEHEH

When the driver sees this sign, what should the driver do?

Q

> D

13

1.) Do not use the horn if more than
) 50decibels

2.) Use speed more than 50 km/hour

3.) Weight not over 50 kg.

)

4.) Do not speed over 50 km/hour




Q SEHEH

When the driver sees this sign, what should the driver do?

Q

=

8%

> D

13

L D)

1.) Slow down and be careful of the

dangers from the oncoming traffic.
The road ahead is a steep hill asceTJ I

2.) Slow down and be cautious.
Release gear or shut down
immediately for safety.

)

3.) Slow down and be cautious.
Prepare to drive pass quickly due to
falling rocks.

L D

4.) Slow down and be cautious. Steep
hill descent. Use neutral gear.




What is the reason to keep a safe distance when driving

behind a truck?

Q SEHPH

> D)

1.) To prevent damages that could
arise from suction forces between
cars

2.) To better shield against wind

)

3.) To allow the truck driver to see
your car from the mirror

L D)

4.) To allow the truck to stop more
easily
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When the driver sees this road marking, what should the
driver do?

> D,

1.) Increase caution. Do not change 2.) Slow down and drive straddling

‘)) lanes ‘)) the line.

3.) Drive in the traffic lane. Do not 4.) Increase caution and Do not
‘)) straddle the line, but can overtake. ‘)) overtake




Q FEHDR

When the driver sees this sign, what should the driver do?

Q

> D,

>

1.) Slow down and be careful. The way

‘)) forward requires a left diverted lane. J

2.) Slow down. Increase caution, The
road ahead is narrow bridge.

3.) Slow down Increase caution. Steep
‘)) hill descent ahead.

> D

4.,) Slow down. Steep hill ascent
ahead.
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Before driving, what should a good driver do to prepare

himself?

> D)

-

1.) Drink alcohol

2.) Have enough rest VI

)

3.) Have a late night

4.) Take amphetamines




What does it mean If the temperature gauge reads high up to

'H'?

> D,

Q SEHPH

1.) Cooling system is broken down.

L D)

2.) There was a malfunction in the
cooling system.

)

3.) The cooling system is very good.

4.) This is at a normal level.
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Q SEHPH

When the driver sees this sign, what should the driver do?

Q

ANAUSH l

> D)

>

1.) Drive slowly and turn left.

L D

L D)

2.) Drive slowly and U-turn for cars
only.

3.) Drive slowly and do not U-turn.

)

4.) Slow down and U-turn when safe.
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Which picture in the following is correct?
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Q SEHEH

When the driver sees this sign, what should the driver do?

Q

> D

13

1.) Slow down and be cautious. The
main road splits from another main
road on the left.

2.) Slow down and take caution. J
Secondary road ahead. Exit right. \

)

3.) Slow down and be cautious. The
main road splits from the main road
on the right.

> D,

4.) Slow down and be cautious.
Secondary road splits from another
secondary on the right.
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e

What must Driver A do when s/he needs to turn right and

there is an oncoming car?

Q SHSF

>

1.) Wait for the oncoming traffic to
)) pass before you turn right.

2.) Do not turn.

3.) Turn right away

=D

> D)

4.,) Stop. Let the car to the right go
first then turn right.
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You can still drive even if you suffer from one of the
following illnesses. Choose ONE.

> D)

-

1.) Diabetes (injection)

2.) Gigivitis V\

)

3.) Apoplexy

4.) Ischemic heart disease




What is the penalty for driving without a licence?

Q SEHPH

> D)

1.) A fine not exceeding 2,000 baht

L D)

2.) Imprisonment of up to 1 month or

fine not exceeding 1,000 Baht or
both. J \

)

3.) Imprisonment up to 1 year

> D)

4.,) A fine not exceeding 5,000 baht




During nighttime, what do you do when you have blurry

vision from the lights of the car driving behind you?

Q SEHPH

> D)

o D)

1.) Adjust the mirror to a position
that will not blur your eyes

2.) Turn the side lights on and off

)

3.) Adjust the mirror to reflect the
light to other drivers

> D

4.) Quickly use the brake to stop the
car
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What is the penalty for driving with an expired licence?

o

1.) A fine not exceeding two thousand 2.) Imprisonment for not more than

) oan . ) onemontn
v

3.) A fine not exceeding five thousand 4.) Imprisonment up to three months

©® o o
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Which of the following consumes a large amount of fuel?

> D,

1.) Using tires from different brands 2.) Using tires with too much pressure

3.) Using tires with too low pressure 4.) Using new tires

) > D,

v
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The engine is overheating while driving, what should drivers
do after stopping in a safe place?

> D)

1.) Use ice to immerse the engine

=

2.) Open the radiator cap and fill the
water immediately

)

3.) Let the engine cool first

4.) Pour water over the engine
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What should you do if your car is blocking others while
parking?

> D)

1.) Park at "R" (reverse) gear 2.) Pull the hand brake.

3.) Park at neutral gear without 4.) Park at "D" (forward) gear
‘)) pulling hand brake ‘))




What is the priority when the car is on fire?

> D

Q SEHPH

1.) Remove the battery terminals.

2.) Get out of the car immediately.

)

3.) Turn on emergency lights

4.) Park the car by the roadside.
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